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Part A

Section Id : 920906331
Section Number : 1
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Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
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Sub-Section Number : 1
Sub-Section Id : 920906538
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Question Id : 92090616703 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

frefefiad wams + SFYEs Tgt 99l & I i -

3 wdi-adl Hitd witg A W g,
i ® S FHe g9 I &
92 Wl 1§ A B IEFT M,
T, 39T E G gHEAl AT 8§
fema d gan 5301, |ee, Hie- Al
qTeT U1, Hi5 59 feea staar o
9 df @&d 8 He, R, T % Wi
I8 Foea< 84 8 off sg= At o
=M faft Wo3E 3 7 Ion 6.,
31 T oft &l 019 B wedt 27
i@l % 3 74 % He Fa1 I,
F8 "ra-ong g 9w gv & 2|
Sub questions
Question Number : 1 Question Id : 92090616704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 W5 1 994 shitae e o Eer g @ -

(1) =hedld~d (2) 943
(3) @ (4) ¥
Options :

92090666001. 1
92090666002. 2
92090666003. 3
92090666004. 4

Question Number : 2 Question Id : 92090616705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR % HTHN W A feeg 3gant a1 -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090666005. 1
92090666006. 2
92090666007. 3
92090666008. 4

Question Number : 3 Question Id : 92090616706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =/

(3) @14

(4) g

Options :

92090666009. 1
92090666010. 2
92090666011. 3
92090666012. 4

Question Number : 4 Question Id : 92090616707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T H U W A &1 faem wee 2o -

(1) ™=
(2) 4=«
(3) =
(4) W&
Options :

92090666013. 1
92090666014. 2
92090666015. 3
92090666016. 4

Question Number : S Question Id : 92090616708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qH d 8 B,

I STl 1 TR 6 HATYW T HH H e -
(A) I8 Fog< g9 8 Wt sge I

(B) W T & gt

(C)  Ia AT ot el W B whdt ?

(D) = farht wo3m 3 <t Ion =

(B) %o "r=-gug g = 9v =@ 2

A feu o fashedi § | |E I F 95 it ¢
(1) (B), (A), (C), (D)3 (E)
(2)  (B),(A), (E), (C)F (D)
(3)  (B), (A), (D), (C)F (E)
(4)  (B), (A), (E), (C)= (D)

Options :
92090666017. 1



92090666018. 2
92090666019. 3
92090666020. 4

Question Id : 92090616703 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fFreferfia T +i eHYEs Tet 99l & I gt -

9 991-991 Hid g | il 7,
Ut § FE A g& I 8|
98 Wl H o 7Y IHH I,
AL, AT & T FEAT AT 8
fema o g B30, B, Hie- A
gTeT% o1, HI5 Y fesr smEand 9
a9 d1 *&d 8 He, W, ¥ % i
98 Fad 89 § of gg A o1
g fagft wogm 3 & gow T,
31 AT i FET {4 & FEwd 2 e
@l & 3ATg 749 % He a1 T,
8 Ta-a9g g 9= 99 @ 2

Sub questions

Question Number : 1 Question Id : 92090616704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 e I 994 shitag foamen 1o S g # -

(1) = (2) T4
(3) F@ (4) A
Options :

92090666001. 1
92090666002. 2
92090666003. 3
92090666004. 4



Question Number : 2 Question Id : 92090616705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T % YR W HH fosg sEan o -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090666005. 1
92090666006. 2
92090666007. 3
92090666008. 4

Question Number : 3 Question Id : 92090616706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =

(3) @14

(4) g

Options :

92090666009. 1
92090666010. 2
92090666011. 3
92090666012. 4



Question Number : 4 Question Id : 92090616707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gerTel § 370 viee ‘O &1 ey wree B -

(1) ™=
(2) e
(3) @
(4) T&H
Options :

92090666013. 1
92090666014. 2
92090666015. 3
92090666016. 4

Question Number : 5 Question Id : 92090616708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qu T wEd 8 e,
3T IS HI TR % SMER W H H e -

(A) ¥8 Hera g9 3 ot s Al
(B) ®H 54 % Him
(C)  3aa1 ATt ot HEf W B Hepell B
D) o= fart wogm 3 S Jon v
(E) %® Hr=-5og frgan =r 9v wd 2
W feu e fapedi # | | I F1 97 i
(1) (B), (A, (C), (D) (E)
(2)  (B). (A), (E), (O)3F (D)
(3)  (B), (A), (D), (C)F(E)
(4)  (B), (A), (E), (C)F (D)

Options :

92090666017 1
92090666018. 2
92090666019. 3
92090666020. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
920906539
Yes

null

Question Number : 6 Question Id : 92090616709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafiga o @ gfafaa a= fafza $ifsw:
(1) 39 gmar i feeeht @4 8
(3) 3 O ft feeeft § =t 21

(2) IHeht TTaT St feoett =4 21
(4) 35k Tren Sft feeeht O @4 2



Options :

92090666021. 1
92090666022. 2
92090666023. 3
92090666024. 4

Question Number : 6 Question Id : 92090616709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefefaa % | gfefza am fafea Fifsw:

(1) 35 °rar S feeett B4 81 (2) Fmeh! O S feoedt w®a 21
(3) 3Tt gray it feeett § @& 21 (4) F&eh graT 1 feeett § & B
Options :

92090666021. 1
92090666022. 2
92090666023. 3
92090666024. 4

Question Number : 7 Question Id : 92090616710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090666025. 1
92090666026. 2
92090666027. 3
92090666028. 4

Question Number : 7 Question Id : 92090616710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090666025. 1
92090666026. 2
92090666027. 3
92090666028. 4

Question Number : 8 Question Id : 92090616711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % Ty g=A-11 1 frem Hifs

g1 g=fi-11
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) g T HaR (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :

92090666029. 1
92090666030. 2
92090666031. 3
92090666032. 4

Question Number : 8 Question Id : 92090616711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 & = g1 1 frem Hifse
g1 g1
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) ®TE T HaN (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :



92090666029. 1
92090666030. 2
92090666031. 3
92090666032. 4

Question Number : 9 Question Id : 92090616712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gei1-1 & |g g=Hi-11 %1 frem Fif
-1 H=1-11
(A) FEA () 9
(B) == (II) g+
(C) &+ (I11) gferpen
(D) FFE| (IV) =

dr= feu o faemegi © ¥ B I+ 994 Fifdu

(1) (A)-(IV), (B)-(D). (C)-(T), (D)~(I1I)
(2)  (A)-(D), (B)-(IV), (O)-D), (D)-(D)
(3)  (A)-dI), (B)-(ID), (C)-(IV), (D)D)
(4)  (A)-(D), (B)-(ID), (C)-AV), (D)-(11)

Options :

92090666033. 1
92090666034. 2
92090666035. 3
92090666036. 4

Question Number : 9 Question Id : 92090616712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g=1-1 % @y g=i-11 %1 fgem $ife .

Tt-1 g=i-11
(A) FEA () i
(B) 3 (IT) e
(© &M (I11) Sfeiget
D) w=A (IV) =@

dr= feu 7o fa=eTi © 9 B I w1 994 Fifew

() (A)-V), B)-(ID), (O)-(D), (D)-(ILI)
(2)  (A)-(IID, (B)-(IV), (C)-(1D), (D)-(I)
(3) A1), (B)-(1), (C)-(IV), (D)-(D)
(4)  (A)-D), (B)-(ID), (C)-(AV), (D)-(11])

Options :

92090666033. 1
92090666034. 2
92090666035. 3
92090666036. 4

Question Number : 10 Question Id : 92090616713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa § @ denifE #1 v

(A) ©El 1 FE T R A G H

B)  Fu =t sem um

(€) 3 % =g A3H

(D) HAR % @MY 5= | g o1 2

e feu e kel § | |8 I F1 95 A
(1) (A JR(B)

2  (B) 3R (D)

3 (B)3M(C)

(4 ()3 (D)

Options :



92090666037. 1
92090666038. 2
92090666039. 3
92090666040. 4

Question Number : 10 Question Id : 92090616713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa 4 & e 1 wwaH
(A) 9Tt 1 FA T W FH T GR H
(B) 3o Ra=st sem e
(C) 3 F =re e
(D) 37 % |y g1 i frg e 2
Hr= feu o fasedi § | |8 I #5197 i .
(1) (&) 3R (B)

2 (B) 3R (D)
3) (B) 3R (C)
(1)  (C) 3 (D)

Options :

92090666037. 1
92090666038. 2
92090666039. 3
92090666040. 4

Question Number : 11 Question Id : 92090616714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU |1 § T forad A1 99 Fufea e W 99e & |ee 1 Headl 919 & JRAf 7

(1) 30fe (2) 60 fam
(3) 90 fe (4) 120 f&=
Options :

92090666041. 1
92090666042. 2



92090666043. 3
92090666044. 4

Question Number : 11 Question Id : 92090616714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU w1 § i forar i 9% 3ofRm e W 99e % 9o &1 9eEd 9uTd & S 7

(1) 30f= (2) 60 f&=
(3) 90 f&@ (4) 120 fe=
Options :

92090666041. 1
92090666042. 2
92090666043. 3
92090666044. 4

Question Number : 12 Question Id : 92090616715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87

(1) 1694 (2) 20 318
(3) 20w (4) 20 34
Options :

92090666045. 1
92090666046. 2
92090666047. 3
92090666048. 4

Question Number : 12 Question Id : 92090616715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87
(1) 16 9 (2) 20 3=
(3) 20m8 (4) 20 3nra

Options :



92090666045. 1
92090666046. 2
92090666047. 3
92090666048. 4

Question Number : 13 Question Id : 92090616716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R § e e § avaad I g3 e

(1) = giwag (2) ©E% ATE FHEm
(3) AT\ FW (4) HTeA-U-HATTH
Options :

92090666049. 1
92090666050. 2
92090666051. 3
92090666052. 4

Question Number : 13 Question Id : 92090616716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9Td H T fhed 8 9weEs IR g3 7

(1) T EiwEs (2) ©E® HATE FON
(3) H&H HAM (4) HTeA-U-HATTH
Options :

92090666049. 1
92090666050. 2
92090666051. 3
92090666052. 4

Question Number : 14 Question Id : 92090616717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T = 30 FEl T= i TEaH hIae (o [g%g U9, 00,377, 9aH TG0 2l 2|

(1) @&, T, Fael (2) oAt TG, T&el
(3) e, Fumm, f&@E (4) @|U, Tagan, f#E
Options :

92090666053. 1
92090666054. 2
92090666055. 3
92090666056. 4

Question Number : 14 Question Id : 92090616717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN & 39 T =9 I Tg9H Hifae 9 f9%g 19.10.37, J96H 390 26t 2

(1) @0, TEgHA1, Sl (2) TelfE, TG, &l
(3) weifen, Famw, &g (4) @&, Tergan, s
Options :

92090666053. 1
92090666054. 2
92090666055. 3
92090666056. 4

Question Number : 15 Question Id : 92090616718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 W @ i | TEen @ SuEed g e 87

(1) =it (2) Higreh
(3) wES (4) g9
Options :

92090666057. 1
92090666058. 2
92090666059. 3
92090666060. 4



Question Number : 15 Question Id : 92090616718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 Rty @ 3 vEen @ wuErer wnfia fe e

(1) ieihmr (2) wiget
(3) ©ETH (4) Fomax
Options :

92090666057. 1
92090666058. 2
92090666059. 3
92090666060. 4

Question Number : 16 Question Id : 92090616719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feferfaa g@en 4 el Je sany

21, 35, 53, 76

(1) 105 (2) 109

(3) 101 (4) 99
Options :

92090666061. 1
92090666062. 2
92090666063. 3
92090666064. 4

Question Number : 16 Question Id : 92090616719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21, 35, 53, 75

(1) 105 (Z) 109

(3) 101 (4) 99
Options :

92090666061. 1



92090666062. 2
92090666063. 3
92090666064. 4

Question Number : 17 Question Id : 92090616720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa @ 9 v w5 3 7 ey fog ™ €1 o9 % amar s fewai &1 g9dieo

FY : A1 A= va ot Sl 1 v gaEt 21
e

(i) e 3 St S % @ 5= E)

(ii) AT T 1S q1S TE B

(i) HHT =1 U Hidenl 915 &l

(1) =a (i) AP &1 81 (2) a (i) T E@T Bl
(3) e (i) I (iii) SFL BT 2 (4) SH | IS AV A Bl
Options :

92090666065. 1
92090666066. 2
92090666067. 3
92090666068. 4

Question Number : 17 Question Id : 92090616720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa g 4 v 5w 3 &7 g fog ™ 81 o9 & anar w1 fewat &1 g9dieo

FUA : 1 FH v diad] el 6 uhEaE g gl
e

(i) Hmm 3 S Sl 2 e 2

(ii) T T g qE TE B

(i) HHT T T Hider |5 8l

(1) ae (i) @FL & 21 (2) ad (ii) L EMT 2
(3) hae (i) 3N (iii) AR BT 2| (4) A9 © I3 AV & il 2|
Options :

92090666065. 1
92090666066. 2
92090666067. 3
92090666068. 4

Question Number : 18 Question Id : 92090616721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafifigd w9 5 I 3 @-9RT § g & [EUROHl % AHR W awed W faEn
#Frfory 2R = fou T fameti O wd fawen @1 = Hifsm)

IheA : U SgUd HE1 A 99 @l gicedl i gl H FEAI-TE T A % T Fere W
Tt 9= o 2

-

() =i FHAIRET % U W W Fee glaut 21

(i) TS FHANET 4 Teel Yieedl Hi AT Bl §eHE IR G-I, HI T @i 91|
(1) e (i) & wep-ed 2

(2) e (i) @ wepI-Tfed 2

(3) A4 () A E (i) TH-Ued B

(4) @HT () 3 (i) wehr-Tfeq 2

Options :
92090666069. 1

(W%



92090666070. 2
92090666071. 3
92090666072. 4

Question Number : 18 Question Id : 92090616721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifigd w9 5 I 3N @-9R0T & 8 8 [EUROHA] % HHR W awed W aEn
#hifore 3R = feu o fomeui & =& fawew 1 === Hifam)

Iehed : U FgUsid HHH1 3 99 I gidedi Hl gl F EAT-92 T H % T8 FeHE T
CEUSIRI eI

tﬁ-m:

(i) =t FH=EIRET % 99 9 W See giaur 2|

(ii) fereRTY F=TET 4 TEd gieedl 6 gl $1 e I gEA1-12, g1 W @l 91|
(1)  =had (i) & wH-1Ea 2l

(2) e (i) & IR-Ted 2

(3) F4r () 3 E (1) TE-1Ed 2

(4) M (i) 3R (i) TPT-Tfe E

Options :

92090666069. 1

92090666070. 2

92090666071. 3
92090666072. 4

Question Number : 19 Question Id : 92090616722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHF I VEIVHE IS TEIRF 0T SBI VH T W S 5F Y &I VH Y H e
=Y 27

(1)  wdrsit (2) 9l
(3) dE-TYg (4) qF-99
Options :

92090666073. 1
92090666074. 2



92090666075. 3
92090666076. 4

Question Number : 19 Question Id : 92090616722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHFTTH VEI VR AE TEIRFI A SEI VH T WEI ST 91 YEI VH Y H el
A B ?

(1) st (2) it
(3) dE-TY (4) qa-9Y
Options :

92090666073. 1
92090666074. 2
92090666075. 3
92090666076. 4

Question Number : 20 Question Id : 92090616723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 TALlhAl T Ufth H o4l &1 HHe 919 H g9d FIH T AR 900 g § Fad &6 W
=31 81 39 TF1 o &9 gH TSihal 93l &| Fol foha- e(hdl Jiad H =l 87

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090666077. 1
92090666078. 2
92090666079. 3
92090666080. 4

Question Number : 20 Question Id : 92090616723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F9 @elRAl UH Uit § o431 | HHen 919 § gHd TH T AR i g § we ©H W
a3t 81 3 ST % &9 ¢F @iSfRAl adl £ Fel feha-l oigfehal ufed § adi 27

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090666077. 1
92090666078. 2
92090666079. 3
92090666080. 4

Question Number : 21 Question Id : 92090616724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K @ fom ol & feru fgema e 20 - Ko+ K =0 % 6l 99 8017

(1) 8,4 (2) 4,4
(3) 0, 4 4y 0.8
Options :

92090666081. 1
92090666082. 2
92090666083. 3
92090666084. 4

Question Number : 21 Question Id : 92090616724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K % T w1 % foru fgema |t 20 - K+ K =0 % 961 99 811 7

(1) 8,4 (2) 4.4
(3) 0, 4 (4) 0.8
Options :

92090666081. 1
92090666082. 2
92090666083. 3
92090666084. 4

Question Number : 22 Question Id : 92090616725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U JEas i 100 Uil @1 % ged 3 s i 60 ufadi & fashd gew % aue 2| oy
71 g1+ =1 gfdea 2 -

o

(D Gﬁ%% @) fﬁé%
(3) 67% (4) 66%
Options :

92090666085. 1
92090666086. 2
92090666087. 3
92090666088. 4

Question Number : 22 Question Id : 92090616725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Tk i 100 WiaE &1 w9 god 36 gEas i 60 gfadl & fasa gew % suet 81 oy
71 g1+ o1 Sfdera & -

2
1 66—="% 2 6710
) 3 (2) =
(3) 67% (4) 66%
Options :

92090666085. 1
92090666086. 2
92090666087. 3
92090666088. 4

Question Number : 23 Question Id : 92090616726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090666089. 1
92090666090. 2
92090666091. 3
92090666092. 4

Question Number : 23 Question Id : 92090616726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090666089. 1
92090666090. 2
92090666091. 3
92090666092. 4

Question Number : 24 Question Id : 92090616727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P H Q@ 40 ToF1 /= i 7fa & 96 Far & 37 a"E P A% A9 T 50% STt
witedr &1 Y AT | 39kl 3fTEd i R 27

(1) 36 T /e (2) 45 Tt f7a
(3) 48 forfi faar (4) 50 foprft /e
Options :



92090666093. 1
92090666094. 2
92090666095. 3
92090666096. 4

Question Number : 24 Question Id : 92090616727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 P E Q% 40 TFft/=er it fa & arn +2ar & 37 999 P 9% 31941 1 50% T2
witear 1 Tt Amn | 3t 3itaa i R 27

(1) 36 Tt /ga (2) 45 Tt /=
(3) 48 fodt/ga (4) 50 Tt /gen
Options :

92090666093. 1
92090666094. 2
92090666095. 3
92090666096. 4

Question Number : 25 Question Id : 92090616728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ey ‘A’ 3R B Tt Fve = w4 fime 3 6 fime O wiw €1 afe s gF el w6
aii-ail ¥ vEh-us e % fou sem 9 (99 A 1 9 IoE Il 8) 91 U8 H W
T foha-T Tag e ?

(1) 4 fiFe 48 ¥s (2) 3 fime 20 ¥Fs
(3) 4 Fme 50 o= (4) 3 fme 30 9es
Options :

92090666097. 1
92090666098. 2
92090666099. 3
92090666100. 4

Question Number : 25 Question Id : 92090616728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 Uy ‘A’ 3R B Tt Fve @ w4 faee 3R 6 fime @ w21 afe g | wiedl &
AHI-FH | TH-Th He & fole Teme A1 (59 ‘A’ I 9gcl 9eldl 9l €) @l HU i 9=

4 feraen |93 w7

(1) 4 fiFe 48 ¥
(3) 4 fiFe 50 9=
Options :

92090666097. 1
92090666098. 2
92090666099. 3
92090666100. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

(2) 3 fiFme 20 9
(4) 3 fime 30 des

Part B: Bioinformatics

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 26 Question Id : 92090616729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of integral j;:ji

cosx

s
(1 —+—1‘.|‘ !——1 .2
) 13 13 e el
(3) {1 —:(10;{‘ 3—log, 2)
Options :

92090666101. 1

deosx +8381nx

dy is:

(2)

(4)

13

1"5

920906332
2

Online
Mandatory
75

75

300

Yes

0

1
920906540
Yes

null

x 2 3 )
—+—log, 3+—1log, 2
T e 13 be

[lﬂgp, 3-log, 2)



92090666102. 2
92090666103. 3
92090666104. 4

Question Number : 26 Question Id : 92090616729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Iz
Hﬁﬁﬁﬁ[ COSY _ dx BT AN &
3 2cosx 4+ 3s51nx
(1) L+iln 3 i]«D 2 (2) £+£1n ‘i+iln 2
TR e T I3 15 g et
@ S Allog 9) W e flag 50 5)
13 13" Be VT 0B < 13 13" B O 0B, <
Options :

92090666101. 1
92090666102. 2
92090666103. 3
92090666104. 4

Question Number : 27 Question Id : 92090616730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The electron acceptor in aerobic respiration 1s:

(1) glucose (2) ecarbon dioxide

(3 water (4) oxygen

Options :

92090666105. 1
92090666106. 2
92090666107. 3
92090666108. 4

Question Number : 27 Question Id : 92090616730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



angdlg e § getag UTEl 8

(1) T (2) HEA SEHES
(3) wd (4)  3iedioH
Options :

92090666105. 1
92090666106. 2
92090666107. 3
92090666108. 4

Question Number : 28 Question Id : 92090616731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ouchterlong test is :

(1) Precipitation reaction
(2) Immunodiffusion test
(3 Counter current immune electrophoresis test

(4) Direct agglutination test

Options :

92090666109. 1
92090666110. 2
92090666111. 3
92090666112. 4

Question Number : 28 Question Id : 92090616731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ffex@ (Ouchterlong) W4 &:

(1) et

) SSRGS Sita

3)  wfdemy ufdeen s eRRM (S197R T FRA! setaciBRF) Wi
(4) IEiEE woftawe Sig

Options :



92090666109. 1
92090666110. 2
92090666111. 3
92090666112. 4

Question Number : 29 Question Id : 92090616732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Viruses are devoid of which process/machinery?

(1) Genetic information of their own (2) Metabolic machinery of their own
(3 Protein structure of their own (4) Genetic material of their own
Options :

92090666113. 1
92090666114. 2
92090666115. 3
92090666116. 4

Question Number : 29 Question Id : 92090616732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fammupatt ® @i o wferar/=ef=dt @1 v gar 872

(1) &8 B ATERRS GIs
2 g & U A &
(3) @ $ UEH W @

4) T P i g @

Options :

92090666113. 1
92090666114. 2
92090666115. 3
92090666116. 4

Question Number : 30 Question Id : 92090616733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The conclusions of theoretical and statical explanations of Mendel's experiment was

discovered and propounded by:

(1) Avery (2) Macleod
(3) Me Carty (4) Correns
Options :

92090666117. 1
92090666118. 2
92090666119. 3
92090666120. 4

Question Number : 30 Question Id : 92090616733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yool & WM & dgif~e iR Fifeady il &1 fss P gRI @il T
IR =rE A 0E ot

(1)  wEd 2) HHfasis

@3)  HPPIl @) B

Options :

92090666117. 1
92090666118. 2
92090666119. 3
92090666120. 4

Question Number : 31 Question Id : 92090616734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The law of thermodynamics that gives the idea of temperature is:

(1) law of conservation of energy (2) first law of thermodynamics
(3) second law of thermodynamics {(4) zeroth law of thermodynamics
Options :

92090666121. 1
92090666122. 2
92090666123. 3
92090666124. 4



Question Number : 31 Question Id : 92090616734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEmAfiR! (uHTerReRT) S PR, S Qe 1 g9iE 3dT g, 98 8

(1) Holl & T @ gy (2) YA & yyd f4aq
()  yHiem-ied &1 fgda fam (4) yHTSTEATHEE &1 LD (zeroth) W
Options :

92090666121. 1
92090666122. 2
92090666123. 3
92090666124. 4

Question Number : 32 Question Id : 92090616735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the valid class declaration is:

(1) Class B {} (2) Class B {int x; };
(3) Public Class B | } (4) Object B {int x: :
Options :

92090666125. 1
92090666126. 2
92090666127. 3
92090666128. 4

Question Number : 32 Question Id : 92090616735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jea drwunafi (@fee Faw e T3 @ &

() TEB/{ | (2) N B {int x; };
(3) dfsddFE B | (4) ffedd B {int x; }:
Options :

92090666125. 1
92090666126. 2



92090666127. 3
92090666128. 4

Question Number : 33 Question Id : 92090616736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C++ and Java are examples of:

(1) 1* generation language (2) 2+ generation language
(3) 3 generation language (4) 4t generation language
Options :

92090666129. 1
92090666130. 2
92090666131. 3
92090666132. 4

Question Number : 33 Question Id : 92090616736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C++ 3R 941, IS8T &

(1) wuH OISl &1 ums & 2) oE TSt @y &
(3) dE dS St umei e 4) =@rd 0 o umeii &
Options :

92090666129. 1
92090666130. 2
92090666131. 3
92090666132. 4

Question Number : 34 Question Id : 92090616737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true for Nuclear Magnetic Resonance (NMR) spectroscopy:

(1) It measures the absorbance of ultraviolet frequency waves

(2) The “NMR active” isotopes of biologically relevant elements include 'H, B BN and
AP only.

(3) The “NMR active” isotopes of biologically relevant elements include 'H, "¢l and 9P
only.

(4) NMR measures the absorbance in radio frequency waves

Options :

92090666133. 1
92090666134. 2
92090666135. 3
92090666136. 4

Question Number : 34 Question Id : 92090616737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFeAsR HHeH WHE (NMR) Fagpidt & g 71 9 §72

(1) I8 T gl @1 URIaq & Uer &1 A &l ¢

2)  Siafds Ui adi & NMR Sfha goeii-eT & |fiferd € dad - 'H, 1°C, N 3R P
(3)  oiiafds Wi dadl & NMR Hieg g 3§ afifen € Faa - 'H, 7C iR P

)  NMR ST gl yR1af &1 Ugdr &1 519 Sl 8

Options :

92090666133. 1
92090666134. 2
92090666135. 3
92090666136. 4

Question Number : 35 Question Id : 92090616738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 18 labelled as Assertion (A) and the other 15 labelled as

Reason (R) :

Asgsertion (A) - The functions e® cosx and e® sinx are linearly dependant.

Reasons (R) : Two functions are linearly dependent if Wronskian of the functions are

zero. Le. wlx «¥1 ,_}'g}'= 0.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) i8 NOT the correct explanation of (A)
(3) {A) 15 true but (R) 15 false

(4) {A) 12 false but (R) 18 true

Options :

92090666137. 1
92090666138. 2
92090666139. 3
92090666140. 4

Question Number : 35 Question Id : 92090616738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i g1 FyA fau T §: UF HfEHUA (Assertion A) F w9 ¥ fITEd g df gHU 39F BRI (Reason R)
CiEay| fl';
HUFYTA ©  e” cosx HT e sinx WWWWWW(W%@} %I

FRUIR & Had a8 1 (UF Oda: Wad) @, g Bl &l sFiesad 3 g, a1iq
w (X, y1, y2)=0

IURIad HYA & el 8, i G g fddeui § ¥ g9 Iugdd IR &1 994 DI

(1)  ASMRRIHA el € AR R, A DI Hel A &
) A 3RREH TP B, AfHA R, A DT UL AT A ©
@) AWEE AFARTA LG
@) A®ETEIE AlPTIR A E
Options :

92090666137. 1
92090666138. 2



92090666139. 3
92090666140. 4

Question Number : 36 Question Id : 92090616739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  DNA duplex molecule has a net negative charge at physiological pH.

Reasons (R) : The DNA molecule contains phosphate groups in its duplex structure.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090666141. 1
92090666142. 2
92090666143. 3
92090666144. 4

Question Number : 36 Question Id : 92090616739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 31 YA U T §: UF S (Assertion A) F Y ¥ TG4 ¢ d GO 39S PR (Reason R)
CIEa| ﬁ;

HUBYAA:  PIUD (BIFEIEITD) pH U DNA $ feFoo]s (Fwiad) 3] R Fhal HUMHD
a9 g gl

PRUIR : ST (DNA) /U] &t F&iay TXa-T H HRihe 948 gl gl

IR FYF & Hdid H, i {0 M0 fdhedl § & 999 Jugdd IR &1 994 Difery

(1) A NRREH HEl 8 SRR, AT O A

2) A 3MRREGH S ¢ AHAR, A B U FRBN G ©
(3) AUGIE AfBAREE BT

@) A" TEIE AFTIRIER

Options :

92090666141. 1
92090666142. 2
92090666143. 3
92090666144. 4

Question Number : 37 Question Id : 92090616740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct steps involved in preparing CDNA of human insulin from its mENA is:

(A) Treatment with DNA asze

(B) Extraction of nucleic acids from the given tissue

() Deactivation of DNA ase

(D Deactivation of reverse transcriptase

(E) Sample running in RTy PCR/ PCR

Choose the correct answer from the options given below :

(1) (A) — (B) = (C) — (D) — (E) (2) (A)— (B) = (D) - (C)—(E)
(3) (B) = (A) = (C) — (E) — (D) (4) (B)—(A)— (D) - (C)— (E)
Options :

92090666145. 1



92090666146. 2
92090666147. 3
92090666148. 4

Question Number : 37 Question Id : 92090616740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy ZifERP &1 WanT $d §U A4 sgfaq & ol Fafor & o afdifea axoi o1 98l &9 o
(A) DNAase ¥ fada

(B) Geiehl § Tfcld el @ (shuor

(C) DNAase &1 fAfeha

(D) Wi gifERes 31 Afesa

(E) ¥ B RT, PCR / PCR & eI

ra feu U famedt 9§ & 9 IR &1 9g4 Siforg -

(1) (A), (B), (C), (D), (E)
(2) (A). (B), (D), (C), (E)
(3) (B), (A), (C), (E), (D)
(4) (B), (A), (D), (C), (E)

Options :

92090666145. 1
92090666146. 2
92090666147. 3
92090666148. 4

Question Number : 38 Question Id : 92090616741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given helow are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reason (R) :

Assertion (A):  Hydrogen bond is important in proteins.

Reasons (R) : Hydrogen bond plays an important role in many organic molecules like

DNA molecules.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (B) are correct and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A4)
(3) {A) 18 correct but (B) 15 not correct

(4) {A) 18 not correct but (R) 18 correct

Options :

92090666149. 1
92090666150. 2
92090666151. 3
92090666152. 4

Question Number : 38 Question Id : 92090616741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 31 FuA U U §: U iy (Assertion A) & w9 H @ § Ol GERI 39® PR (Reason R) &
=0 f—T,'

fiBY A : UICH H gEgeH ey 9gaqYl 8 &
HRUIR : GIFGI HdY, B3 Praf1ed HUSH o8 DNA ], H Hgeaqul yfeesT v g
IR HYF & Hlelid H, i {0 fowedl § 8 99 Iugdd Iw) &1 99+ Difoy

(1) A SR REHI Tl ¢ AR R, A DI Gl TSR

(2)  ASMR R T E, Al R, A I UL ARG §
(3) AWEE AfPIREE TE &

(4) AGETEIE AFTREEE

Options :
92090666149. 1
92090666150. 2



92090666151. 3
92090666152. 4

Question Number : 39 Question Id : 92090616742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Aszsertion (A) : The internet is a collection of interconnected computer networks.
Reasons (R) : World Wide Web is a collection of websites or web pages. stored in web
SErvers,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (H) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)

(3) (A) is correct but (R) is not correct
(4) {A) is not correct but (R) is correct
Options :

92090666153. 1
92090666154. 2
92090666155. 3
92090666156. 4

Question Number : 39 Question Id : 92090616742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a3 Y AU T §: U i@ (Assertion A) & ®9 ¥ fAf@d 8 o1 g8U I8P IR (Reason R) &
+q fT;

HUBYT A:  FETIE, WER Hallgd (IS §U PR -Icaepl DI TIE &
FRUIR:  dos A3 A9, Ja9lLed 91 dquel &1 69E ¢ ol dagd & ® R (HaSThe) gl 3
TIRIdHY & Al H, i fGU T fadedl # § gad Iuge IR &1 997 Sy

(1) ARREH TR E 3RR, A T ¢ AR

2) A IRREH HEl € AR, AP Uel ARSI &
(3) AWEE ABART T

@) AWETEIE APTRIE®

Options :

92090666153. 1
92090666154. 2
92090666155. 3
92090666156. 4

Question Number : 40 Question Id : 92090616743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In C++ a member function cannot access the data in the class of which it 1s
a member.
Statement IT - In C++ virtual function is defined in base class.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I 18 correct but statement I 1s incorrect

(4) Statement I 18 incorrect but statement 11 is correct
Options :

92090666157. 1
92090666158. 2



92090666159. 3
92090666160. 4

Question Number : 40 Question Id : 92090616743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEKAEEACAR)

FUA | : C++ T UF T WA 39 oF 8 21 a el Ugdl Gaal, R a8 95 g
FUA N : C++ T MRl e B aneR a7f 7 il foear man g

SR FYA & 3l H, - [Gu Ty fawedl # & 9&t SR &1 997 S

(1) SYFI SR NSHAITTE

2) YIRS qHT §

(3) @Y TA g, A HYUA Il 3 §
4) U HEI B, AfhT Y I T ©

Options :

92090666157. 1
92090666158. 2
92090666159. 3
92090666160. 4

Question Number : 41 Question Id : 92090616744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A): DNA Sequences may share high degree of similarity on the basis of which

homology or ancestral relationship can be inferred.

Reasons (B : DNA Sequences (or Organisms) may share function, structure or

evolutionary history, therefore can be homologous.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

Options :

92090666161. 1
92090666162. 2
92090666163. 3
92090666164. 4

Question Number : 41 Question Id : 92090616744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 31 FuA U T & UF UG UA (Assertion A) & w9 T fifga & 1 gEY IS IR (Reason R)
& &g ff;

YT A:  DNA 3HH I TR &1 GHFd] G0 $X Gad g, [olid STUR W GAEYdl 1 Ugd

Hae T STHA T S bl g |

PR R: DNA 3 @H (@1 offa), &1, a1 41 fAemaard) 3iierd 9en & 9&d g, iy

=Y & gdhdl gl

IR HYF & Hleild H, +id U ¢ fdsedl § | gad Iugdd IR &1 99+ Sifeig

(1)
(2)
(3)
(4)

A 3R R T TE1 € 3R R, A D] Tl TS 8

A 3R R G HEl €, TfH1 R, A P HEl ST T8l ©
A TE! €, T R T T §

ATE TN E, AFTR UL R

Options :

92090666161. 1
92090666162. 2
92090666163. 3
92090666164. 4

Question Number : 42 Question Id : 92090616745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as=

Reason (R) :

Assertion (A):  Searching a motif database using exact matching has a good chance of
missing truly relevant motifs which have slight variation, thus generating
false negative results.

Reasons (R) : Fuzzy matches, also called approximate matches, provide permissive

matching by allowing more flexible matching of residues of similar

biochemical properties.

In the light of the above Statements, choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) is true but (R) is falze

(A) is false but (R) is true



Options :

92090666165. 1
92090666166. 2
92090666167. 3
92090666168. 4

Question Number : 42 Question Id : 92090616745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frd 31 F U Y §: U M@ (Assertion A) & 9 ¥ [1f@d 8 o1 g8Y 3HF IR (Reason R) &
=0 ﬁ;

HYydud A: Geld HaH &1 IUN & UH HIleE Soed & @ & § dadidesd J
RIS $UieH] & MHd 81F &1 U e8] 3G9 gidl ¢, foras At i gidl &,
34 UFR o ASRIAS GRUTH I0= 8

PR R: il firar, o arganfad fireme +ff Fg1 ol g, §HF o IRma e 1o & SEsel &
it erdicl e @t srafd P SaY e UM &vd 2|

JURIGd By & Helid §, i [ 0 fddhedl § § g8 Juged IR &1 99+ ity

(1)  ANRREH TEl € 3RR, A DI e AT ©

) ASRRIHA HEl € AlBAR, APl U AR e &
@) ATHE AMFPTRTAT T

@) AT TEIE AFTIRIEE

Options :

92090666165. 1
92090666166. 2
92090666167. 3
92090666168. 4

Question Number : 43 Question Id : 92090616746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement I : The need to deal with the ever increasing flood of information has spawned

the field of Bicinformatics.

Statement II : There is a requirement of generation of information from large amount of

data generated through sequencing techniques, therefore bioinformatics is

of great need.

In the light of the ahove Statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Both Statement I and Statement 11 are true
Both Statement I and Statement II are false
Statement [ is true but statement 11 is false

Statement [ is false but statement 11 is true

Options :

92090666169. 1
92090666170. 2
92090666171. 3
92090666172. 4

Question Number : 43 Question Id : 92090616746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G FERume
U | T Tl g2 Yl @ w1g @ Fived & e Sta e e 6 Sy g2

Y |l

SHH dd-iih] & gRI gof 9 § Se1 9f-F 89 ¥ gamsil & S gF sawasdd ¢,
ST 39 Yo g aS! smawadd g

I HYA & HTdlP |, +id U U fddwedl § 9 98l ST &1 99 Bl

(1)
(2)

(3)
(4)

FYF AR IGHI T E
HU | AR 1| ST 3 §

FY | T §, Afh HUT 1l AT €
DU | FTA &, Afhd HUF | T ¢

Options :
92090666169. 1
92090666170. 2



92090666171. 3
92090666172. 4

Question Number : 44 Question Id : 92090616747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statement:

(A) BLAST is used for performing multiple sequence alignment.

(B) BLAST is used for performing homology search of input molecule.

(C) BLAST. stands for protein BLAST.

(In  FASTA is a sequence alignment tool/algorithm

(E) FASTA is a format for sequence representation using single letter code.

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) and (E) only (2) (A), (B), (C) and (D) only
(3) (B), (C) and (D) only (4) (B). (D) and (E) only
Options :

92090666173. 1
92090666174. 2
92090666175. 3
92090666176. 4

Question Number : 44 Question Id : 92090616747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRfciad SY=T &1 UgHT Tgt HYAl B 99 BT

(A)  BLAST @1 WO 70T 3-[ehH @0l & f1e01e- o forg gian g

(B)  BLAST o1 WA a2 3(0] &1 Wil & THeiTdar (sa1g & ferd gian g
(C) BLAST, &1 ¥ Wil saRe gial g

(D) FASTA U I T¥@U] T4 /e ¢

(E) FASTA U &R Fe oI WO Sich b H TSR H3- F1 HBIHe |
id fu T1u fawmedl 4 9 98! IR &1 99 i :

(1) (A), (B), (O, (D), (E) T+

(2)  ad (A), (8) (O 3R (D)

(3)  &ad (B), (C) 3R (D)

(4) ad (B), (D) AR (E)

Options :

92090666173. 1
92090666174. 2
92090666175. 3
92090666176. 4

Question Number : 45 Question Id : 92090616748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List IT

i4) Genbank (I)'  Houses information of 3D structural
coordinates

(By DDBJ (I) Manually annotated protein database
in Uniprot.

(C) SWISS PROT (IIT) One of the member of International
Nucleotide Sequence Database
Collaboration (INSDC)

Dy PDB (IV) Nucleotide sequence database at NCBI

Choose the correct answer from the options given below:

(1) (A)-(II), (B)-(I), (C)-(11D), (D)-(IV)
(2) (A)-(IV), (B)-(11), (C)-(I). (D)-(I1I)
(3) (A)-(IV), (B)-(I1T), (C)-(I1), (D)-(T)
{ i

)
4) (A)-(D, (B)-(IV), (C)-(IT), (D)-(I1I)

Options :

92090666177. 1
92090666178. 2
92090666179. 3
92090666180. 4

Question Number : 45 Question Id : 92090616748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 9y ! | 1 e $ifeg

geit-| gt -l

(A) SFd® (GENBANK) () 3-D HNSE (e Farsd &
1Ay

() DDBJ 1y gfFme § U Sced &1 gEddnd
LGIETL

(€) TE=OIg (SWISS PORT) () SRS gfFeierss F Sead
HFURT (INSDC) BT T U&H

(D) PDB (v) gfFeierss ofpH Sy fum
(NCBI)

i feu e faspedl § 9 gt IR &1 5g- S

(1) (A)-(I1), (B)-(1), (C)-(l), (D)-(IV)
(2) (A)-(IV), (B)-(11), (C)-(1), (D)-(1)
(3) (A)-(IV), (B)-(1), (C)-(IN), (D)-(I)
(4) (A)-(1), (B)-(1V), (C)-(In), (D)-(1)

Options :

92090666177. 1
92090666178. 2
92090666179. 3
92090666180. 4

Question Number : 46 Question Id : 92090616749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The differential equation m{.‘r, }=]rix+ N{x._ }')dy =0 is an exact differential equation, if:

om N -
(1) ﬁ*‘rﬁ—[]:ﬂ (2) C_\"i_(ﬁﬂzl
& & by ox
@ L2V iy LY
dy ox By ox

Options :

92090666181. 1
92090666182. 2
92090666183. 3
92090666184. 4



Question Number : 46 Question Id : 92090616749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HNFHAT THF (. y) dx + Nlx. y)dy =0 T TP e GHia0 8, afe:

dm AN . cm &N

oy il 2 =-Z—=1
oy ox dy oOx
dm &N im &N

@ ew—=l @ =
oy ox dy dx

Options :

92090666181. 1
92090666182. 2
92090666183. 3
92090666184. 4

Question Number : 47 Question Id : 92090616750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Proteinaceous infectious particles are known as:

(1) Virus (2} Virouds

(3) Virusoids (4) Prions

Options :

92090666185. 1
92090666186. 2
92090666187. 3
92090666188. 4

Question Number : 47 Question Id : 92090616750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
egaa Al wul # Fed g

(1)  femmy (2) drEIEEd
3)  dIEeEsd @) uris (fren=)

Options :



92090666185. 1
92090666186. 2
92090666187. 3
92090666188. 4

Question Number : 48 Question Id : 92090616751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of structural organization in viruses (from smallest unit to biggest

structure):
(1) Capsomere — Capsid — Protomers
(2) Protomers — Capsid — Capsomere

(3 Protomers — Capsomeres — Capsid

(4) Capsid — Protomers — Capsomeres

Options :

92090666189. 1
92090666190. 2
92090666191. 3
92090666192. 4

Question Number : 48 Question Id : 92090616751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faEmuall § WREATHS WS BT FEl I (He BIA S8 § e 99 WRED)

(1) FAHR — HE - WEHRR 2 wueHRR - $Hftrs - FwndR
(3) WEeHmR - FurdmR - s 4) FHE - werrR - SR

Options :

92090666189. 1
92090666190. 2
92090666191. 3
92090666192. 4

Question Number : 49 Question Id : 92090616752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cvelie AMP receptor protein (CRP) binds to eyelic AMP (¢ AMP) molecules and form a cAMP —
CRP complex which is required for ;

(1) translation (2) transformation
(] replication {4) transcription
Options :

92090666193. 1
92090666194. 2
92090666195. 3
92090666196. 4

Question Number : 49 Question Id : 92090616752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IH AMP I8 UIEH (CRP) TEhiT AMP (CAMP) JU[SHT H a7 b cAMP - CRP |fE%
T g, Fradht smasgear g g ¢

(1)  wUERY (ETeied) o ) TiEgwEeE §
(3)  wiapfaad 8§ (4) orferEd H
Options :

92090666193. 1
92090666194. 2
92090666195. 3
92090666196. 4

Question Number : 50 Question Id : 92090616753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radiation emitted by human body is

(1) X-ray (2) infra radiations
(3) ultra violet radiation (4) wvisible range radiation
Options :

92090666197. 1
92090666198. 2
92090666199. 3
92090666200. 4



Question Number : 50 Question Id : 92090616753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qa IR W Icafia fafsor g &:
(1) X-fwol (Ray) (2) 3eRad AT (Infra red) fafdmwor
3) o o (4) < v fafdRor

Options :

92090666197. 1
92090666198. 2
92090666199. 3
92090666200. 4

Question Number : 51 Question Id : 92090616754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not the C++ type of constructor?

(1) Copy constructor {2) Function Constructor
(3 Default Constructor (4) Parameterised Constructor
Options :

92090666201. 1
92090666202. 2
92090666203. 3
92090666204. 4

Question Number : 51 Question Id : 92090616754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fofaa & @ B o+ + veR @ Fmfar (dvgaeR) 78 22

(1)  wfafefy fFeE ) e fAmfEr
3) el (ffwee) Fafa @)  Srievrsss Pafo
Options :

92090666201. 1
92090666202. 2
92090666203. 3



92090666204. 4

Question Number : 52 Question Id : 92090616755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An algorithm for local sequence alignment is:

(1) Needleman — Wunsch Algorithm (2) Smith — Waterman Algorithm
(3 Support Vector Machine (4) Decision Tree Algorithm
Options :

92090666205. 1
92090666206. 2
92090666207. 3
92090666208. 4

Question Number : 52 Question Id : 92090616755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T S WE & fore wed fafy 2

(1) e - g1 Fe ) T - aEewH oA
(3) HERS ddeR T (4) Haa ol e
Options :

92090666205. 1
92090666206. 2
92090666207. 3
92090666208. 4

Question Number : 53 Question Id : 92090616756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Genome is more complex than proteome which iz more complex than
glycome.
Reasons (R) : Genome is static, but proteome includes all possible protein products and

modified proteins that a cell expresses under any particular set of

clreumstances.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 1s false but (R) is true

Options :

92090666209. 1
92090666210. 2
92090666211. 3
92090666212. 4

Question Number : 53 Question Id : 92090616756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 &1 P o Mo E - 0P SR (Assertion (A)) & w9 F forfied 2 o SEY IS PRU (Reasons

(R)) & &4 ¥ .

e (A) - Wi, mifeam @ fte afee 8, AifE wgem ¥ afte afta 8

R (R) : S fRR g g, weg diftalm d ot o ofdem gae, wuafa @dm, St
oIt gy avfRuftet § sftreres o &, wfdfew @ £

TR P & el J, H Ry 1 et F ¥ Wt Sugs 9w @ gae Hiftig

(1) (A) &R R) SHF & € 3R (R), (A) H T e &

(2) (A &R ®) SH =@ E, A R). (A) F w8 arwen T &
(3) (A TR g, AT R) T T 2

(4)  (A) wel 7l &, @fhT (R) Wl &



Options :

92090666209. 1
92090666210. 2
92090666211. 3
92090666212. 4

Question Number : 54 Question Id : 92090616757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Capsule of bacterial cells are madeup of:

(1) Extracellular polymerie substances (EPS)
(2) Intracellular polymeric substances ([PS)
(3) Low-density polyvethylene (LDPE)

&Y High-density polvethylene (HDPE)

Options :

92090666213. 1
92090666214. 2
92090666215. 3
92090666216. 4

Question Number : 54 Question Id : 92090616757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sfiaru] Hifdrest &t [YRHT (Foga) 1 g &
(1) «ESIfichr sgard! uert (EPS) 9
(2) 3 PIDBY qgerdl ugrdf (aps) A

(3) 9 °G-cd dlel UlelisYTSeli= (LDPE) 9
(4) ITd Tcd gl UTelSeTSelF (MDPE) &

Options :

92090666213. 1
92090666214. 2
92090666215. 3
92090666216. 4

Question Number : 55 Question Id : 92090616758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The number of electrons exist in a p-orbital 1s:

1 6 2 3
3 2 4 8

Options :

92090666217. 1
92090666218. 2
92090666219. 3
92090666220. 4

Question Number : 55 Question Id : 92090616758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

p-JNifaea H gelge= & wen gt g -

(1) 6 2) 3

3) 2 (4 8
Options :

92090666217. 1
92090666218. 2
92090666219. 3
92090666220. 4

Question Number : 56 Question Id : 92090616759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The location where TCA cycle operates is:

(1) Nucleus (2) Endoplasmie reticulum
(3) Mitochondrial matrix (4) Chloroplast
Options :

92090666221. 1
92090666222. 2
92090666223. 3
92090666224. 4



Question Number : 56 Question Id : 92090616759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TCA T g gfed gar & :

(1) oD @) Iraealt afer

(3) HARcErSY anuEt (dfte) (4) ERdeE® (FARICIRT)
Options :

92090666221. 1
92090666222. 2
92090666223. 3
92090666224. 4

Question Number : 57 Question Id : 92090616760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The for loop statement which is correct according to C++ programming language is:

(1) for (,.) (2) for(, )
(3) for (;.) (4) for(;;)
Options :

92090666225. 1
92090666226. 2
92090666227. 3
92090666228. 4

Question Number : 57 Question Id : 92090616760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR W B, ST C++ TN AT & v W R, 98 &

(1) for (, ,) (20 for(,:)
(3) for (; ) (4) for(::)
Options :

92090666225. 1
92090666226. 2
92090666227. 3



92090666228. 4

Question Number : 58 Question Id : 92090616761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one which works as intermediatery between the computer user and hardware is:

(1) Microcontroller (2) Device Driver
(3) Hardware (4) Operating System
Options :

92090666229. 1
92090666230. 2
92090666231. 3
92090666232. 4

Question Number : 58 Question Id : 92090616761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pgex JaTTedt iR gEdER & dia oY Aerves i avg i aar 8, 98 &

(1) ﬁ\&qﬁﬂ?ﬁﬁ {Microcontroller) (2) 4RO dlelh (Device Driver)
(3) EEAW (4) SRfE Rew
Options :

92090666229. 1
92090666230. 2
92090666231. 3
92090666232. 4

Question Number : 59 Question Id : 92090616762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IEEE standard of wired LAN is :

(1) IEEE 802.3 (2) IEEE 802.11
(3) IEEE B02.15 {4y IEEE 802.14
Options :

92090666233. 1
92090666234. 2



92090666235. 3
92090666236. 4

Question Number : 59 Question Id : 92090616762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 o9 (Wired LAN) & féTU IEEE 991 & :

(1) IEEE 802.3 (2) IEEE 802.11
(3) IEEE 802.15 (4) IEEE 802.14
Options :

92090666233. 1
92090666234. 2
92090666235. 3
92090666236. 4

Question Number : 60 Question Id : 92090616763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct sequence of events for catabolism of pyrimidines (cytosine) leading to
formation of water soluble end products :

(A) Dihydrouracil
(B) B -Alanine, CO2, NH2

(0 Uracil

(D) B -Ureidopropionate

(E) Cytosine

Choose the most appropriate answer from the options given below :

(1) (A), (B). (C), (D), (E) (2) (D), (C), (A), (B), (E)
(3) (E), (B), (D), (A), (C) (4) (E), (C), (A), (D), (B)
Options :

92090666237. 1
92090666238. 2
92090666239. 3



92090666240. 4

Question Number : 60 Question Id : 92090616763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fifd (wseiF) & ommaa & o PP 9@ A gemdfila sifRm S &9d §,
gftegeTsi & Ifed A & = Hifl

(&) SEEEgEd

(B)  p-TeFH, CO,, NH,

© gufe

D) p-FEmitaEe

(B) HEeriF

1 feu v fameai § 9 OE SW @ 9T i

() (A), (B), (C), (D), (E)

(20 (D), (C), (A), (B), (E)

(3) (E), (B), (D), (A), (C)

(4 (E). (O (A), (D). (B)
Options :

92090666237. 1
92090666238. 2
92090666239. 3
92090666240. 4

Question Number : 61 Question Id : 92090616764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Double antibody sandwich ELISA method used to detect antigen.

Statement I1 : A chromogenic substrate (nitrophenyl, phosphate) added to react with
enzyme and develop vellow colour.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement I are true
(2) Both Statement | and Statement I are false

(3) Statement [ is true but statement 11 is false
(4) Statement [ is false but statement 11 is true
Options :

92090666241. 1
92090666242. 2
92090666243. 3
92090666244. 4

Question Number : 61 Question Id : 92090616764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I g YT Ry § -

e 1: e uferelt dsfaa (vergon) fafér &1 v wfde= &1 gar & A g 2l

HYE 11 : UaTeH ¥ Afufhar o & fog ik diet avfs @1 = & folu v quitferaredt
ueref (ATEeIfthAISa wivthe) e Srer Bl

JWRIh HYT & ATATD A, " Ry 10 Rfevedi 4 4 F99 I9GH IR 1 999 HIY

) Y 18R 11 F T §

) @eM 1 3R 11 3T e #

(3) @F 1 TG g, oifhT H2E 11 39T 8
(4)

1

FeF 1 3T &, oifh Y 11 T &

Options :

92090666241. 1
92090666242. 2
92090666243. 3
92090666244. 4



Question Number : 62 Question Id : 92090616765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct statements:
(A) Haemagglutination is a phenomenon of clumping RBC.
(B) Neutralization test is useful in diagnosis of viral infections in humans.
() Antigens are known as antitoxins.

(I Antibodies are known as antitoxins.

Choose the most appropriate answer from the options given below :

(1) (A), (B), and (C) only (2) (B), (C) and (D) only
(3) (A), (B) and (D) only (4) (A), (C) and (D) only
Options :

92090666245. 1
92090666246. 2
92090666247. 3
92090666248. 4

Question Number : 62 Question Id : 92090616765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& HUAT BT T BT

) e R &+t Tl Hi v aRee 2

(B) A4 A Rt St & oggm & v serfFeRn s arvens 2
() e @ wfafas St war s 21

(D) wfereft @t ufefas +ft ser s 2

1 fou M fasedi § 9 WEl IR & 9 HIf
(1) FE (A), (B) 3R (0)
(20  &ad (B), (C) 3R (D)
(3) & (A), (B) 3R (D)
(9  E (A), () IR D)



Options :

92090666245. 1
92090666246. 2
92090666247. 3
92090666248. 4

Question Number : 63 Question Id : 92090616766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I : GM counter can detect X-ravs and y rays with high efficiency.

Statement 11 : GM counter cannot detect low energy radiation.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement 1 and Statement 1T are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement [ 18 correct but statement II 1s incorrect
(4) Statement I 18 incorrect but statement IT 15 correct

Options :

92090666249. 1
92090666250. 2
92090666251. 3
92090666252. 4

Question Number : 63 Question Id : 92090616766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 21 e v Mo E

A1

St U9 Ui J9 Waurdl ¥ X-fon 3R v ool it ugaE #R g B

A 11 : oft UH ures i Sl fafdwor &t ugg™ A8 o S

IR HYF & e H, A Ry 1 fiwedi § & J99 Iugd IR $H 977 DI

(1) ¥ 18R 1 3 we &

(2) e 1 3R 11 2F) s/ &

(3) & 1 T 2, fthT $eF 11 317 8
(4) &UF 1 39A ¢, Al HUF 11 I 2
Options :

92090666249. 1
92090666250. 2
92090666251. 3
92090666252. 4

Question Number : 64 Question Id : 92090616767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Liat IT :

(A)
(B)
(C)
(D)

Liat I
Radiation
uv
Visible
Infrared
X-ray

Last 11
Wavelengths
(I 400 nm to 700 nm
(Il) 1 nm to 400 nm
(III) 1 nm to 107 nm

{IV) 1 mmto 700 nm

Choose the correct answer from the options given below:

(1)
(Z)
(3)
(4)

(A)-(I), (B)-(ID), (C)-(IV), (D)-(11I)
(A)-(IV), (B)-(III), (C)-(1I), (D)-(I)
(A)-(ID), (B)-(D), (C)-(IV), (D)-(11L)
(A)-(I), (B)-(ID), (C)-(I11), (D)-(IV)

Options :



92090666253. 1
92090666254. 2
92090666255. 3
92090666256. 4

Question Number : 64 Question Id : 92090616767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gell-1 & | gi-11 &1 e S

Gl-1 -1

farferor SRy
A) UV () 400 nm ¥ 700 nm
(B) ST WY (1) 1nm ¥ 400 nm
(C) 3faRad (1) 1nm ¥ 10 nm
(D) X-fAUl Ray) (IV) 1nm ¥ 700 nm

e fer M et § | 9E IR &1 994 HIfy

(1) (A)-(I), (B)-(II), (C)-(IV), (D)-(III)
2) (A)-(IV), (B)-(ILI), (C)-(II), (D)-(I)
(3) (A)-(1D), (B)-(T). (C)-(1V), (D)-(I1I)
(4) (A)-(I), (B)-(1T), (C)-(I1L), (D)-(IV)

.-=
(=]

Options :

92090666253. 1
92090666254. 2
92090666255. 3
92090666256. 4

Question Number : 65 Question Id : 92090616768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion (A) and the other i1s labelled as

Reazon (R) ¢
Assertion (A) :  C++ is an object oriented language.
Reasons (R) : (C++ supports the inheritance which is an attribute of object oriented

language.

In the light of the above Statements, choose the correct answer from the options given below :

(1)
(2)
()
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A4)
(A) 18 true but (R) 15 false

(A) 1= false but (R) 1s true

Options :

92090666257 1
92090666258. 2
92090666259. 3
92090666260. 4

Question Number : 65 Question Id : 92090616768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g BUF R M § : W AMBUT (Assertion (A)) & &Y H faflad g a1 @1 Iqb HROT
{(Reasons (R)) FHTH

AMNBYT (4) O+ T avg IH@ HINT 2

BRI (R) - C++ FTeRCH BT TR TRAT 8 9l a%g I 91T & T femor g

IWIh HYT & AT §, A By 10 Revedl § 4 T80 I9gh IR i 9949 DY

(1)
(2)
(3)
(4)

A) 3R ®) 31 T 3R (R), (A) H T RE B

&) 3R ®) I T E, AT R), (A) B T =E T 2
(A) T 2, T () W@ e

(A) T8 78 8, o (R) WE 2

Options :
92090666257. 1



92090666258. 2
92090666259. 3
92090666260. 4

Question Number : 66 Question Id : 92090616769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence to enter a formula in MS excel that contains a built in funetion is:

(A)  Type an equal sign (=) and then type a function

(B) Select the range of cells, and type a closing parenthesis [}] :

() Press enter to get the result.
(D)  Type an opening parenthesis [{]

(E) Select an empty cell.

The correct sequence in doing the task is :

(1) (E), (D), (A), (B), (C) (2) (A), (E), (D). (B), (C)
(3) (E), (A), (D), (B), (C) (4) (E), (B), (C), (A), (D)
Options :

92090666261. 1
92090666262. 2
92090666263. 3
92090666264. 4

Question Number : 66 Question Id : 92090616769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W W e H U G g5l A BT Adl Agpd o we SafiRd we gl 8, 98 &

&) T WER (=) B g ey W SR 39S q1g e TR B

B) A & UUR B 997 B R THS U GHIGT B [ ) | 2T
(C) gfome W FRA & folv der gan|

(D) VR I3 [ (] TZT B

(B) U Grelt da o1 909 |

9 oy v fapent H @ Wl IR & 94 Hifd -
(L (E), (D). (A), (B), (C)
) (A), (E), (D), (B), (C)
3) (E), (A), (D), (B), (C)
4 (E), (B), (O), (A), (D)

=

—
5]

-

Options :

92090666261. 1
92090666262. 2
92090666263. 3
92090666264. 4

Question Number : 67 Question Id : 92090616770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : In CMY color model, one (1) represents the primary color and zero (0)
represents the lightest color.
Statement I1 : In CMY model, point (1, 1, 1) represents black, and (0, 0, 0) represents

white.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement | and Statement 11 are false

(3) Statement [ is true but statement 11 is false
(4) Statement [ is false but statement 11 is true
Options :

92090666265. 1
92090666266. 2
92090666267. 3
92090666268. 4

Question Number : 67 Question Id : 92090616770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 @) o R €

P 1:  CMY avf Uy H U (1) wrafdes auf &l &R 979 (0) HeH gowb aul ol JAfHegad
&l Bl

B 11 : CMY Uty #, fag (1, 1, 1) et @t 3R (0, 0, 0) #ad &1 sif¥regad e B
IWRIh YT S D J, A1 Ry 10 Rfeved] § 4 999 I9Gw IW H 999 DI

1) @2 3R 11 SF1 9 &
) @M 1 3R 11 ST aRTe &
3) PYF 1 T g, b HUF 11 [ 2

o]

(
(
(
(

4) PUF 1 3T g, T B 11 T 2



Options :

92090666265. 1
92090666266. 2
92090666267. 3
92090666268. 4

Question Number : 68 Question Id : 92090616771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidden Markov Model can be used for:
(A)  Predicting weather

(B) Hand writing recognition

(C)  Speech recognition

(D)  Natural Language Processing

(E) Finance

Choose the most appropriate answer from the options given below :

(1) (A), (B). (D) only (2) (A), (B), (C), (D) only

(3) (A), (B), (C}), (I, (E) only (4)  (A), (B), (C) only

Options :

92090666269. 1
92090666270. 2
92090666271. 3
92090666272. 4

Question Number : 68 Question Id : 92090616771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f&sar gan frges wrew (fRe= Hiha Aiser) @1 Wi fovan < Jepar g1
(A) W $1 gaigHIE d@E H

(B) gy $t yggE o |

() arft & ggEE &

(D)  WTepicrs HTST SREHROT A

® fad

I feu  faedi 4 9 wE SR &1 9T Hifg
(1) (A), (B) 3R D)

@  (A),(B),(©) IR D

(3) (A, ®),(0), D), (BT

@ @), ®3IR©

Options :

92090666269. 1
92090666270. 2
92090666271. 3
92090666272. 4

Question Number : 69 Question Id : 92090616772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List [ Last 11
(4) °C language () dJavac
(B) C++language (IT) gce
(C)  Java (III}) g++
D) Fortran ({IV)y G Fortran

Choosze the correct answer from the options given below:

(1)  (A)-(I). (B)-(IV), (C)-(IT), (D)~(11I)
2y  (A)-ID, (B)-(IID), (C)-(D), (D)-(IV)
(3 (AW, (B)-(1), (C)-(IV), (D)-(1I)
(4) (A)-(IT), (B)-(L), (C)-(IV), (D)-(I1T}



Options :

92090666273. 1
92090666274. 2
92090666275. 3
92090666276. 4

Question Number : 69 Question Id : 92090616772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH-1 & Y GA-11 T fyer HR

-1 11
(A) €| () ) @ C (Java C)
(B) C++ T (1) GCC
(C) Ml (1) G++
(D) WINgH (IV) G ®REH

e fer M faweai § ¥ OEt SW & 994 Hifg

(1) (A)-(D), (B)-(IV), (Cy-(IT), (D)-(11I)

(
(2) (A)-(ID), (B)-(III), (C)-(I), (D)-(IV)
(3) (A)-(11D), (B)-(I), (C)-(IV), (D)-(1I)
(4) (A)-(ID), (B)-(I), (C)-(IV), (D)-(I1I)
Options :

92090666273. 1
92090666274. 2
92090666275. 3
92090666276. 4

Question Number : 70 Question Id : 92090616773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : There is a requirement of generation of information out of the data stored
in primary data bases (sequence databases as an example)

Reasons (R) : Secondary database like Interpro and Prosite are developed to provide
functional analysis of proteins by classifving them into families and
predicting domains and important sites, therefore are responsible for
generating next information.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090666277. 1
92090666278. 2
92090666279. 3
92090666280. 4

Question Number : 70 Question Id : 92090616773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g P R M E - 1P BT (Assertion (4) F H9 F fafed B o ST S9S BRI
{(Reasons (R)) & WY H

e (A) . s Seew H WU (SSreRund - offmH STeW) ¥ gEiei &
UalteRur Sife b oI & g 21

PR (R) : ol ey 9 o gHieRer (e ) iR uiee &1 faem, WidH &t
TS A% ygH - & o ok S9! uRari (hivefa) § wfiga
IR SR Agayyl FRiGT F gaigEE & oy s S 81 st 3 oneft
AFER I gRA & foIU Fearerft &

IR PYF D AalD §, 9 QU 10 Revedl § & a9 Iugeh I B 9F7 DY

(1) () 3R ®)SF A & 3R R), (A) B wE @ B

(2) () 3R ®) S @ E, A ®), ) B 9E e @ 3
(3)  (a) 9@ 2, afT (R) |t & &

(4)  (A)9d 78 2, afb (R) W 2

Options :

92090666277 1
92090666278. 2
92090666279. 3
92090666280. 4

Question Number : 71 Question Id : 92090616774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence for protein characterization using 2-D gel and Mass Spectrometry (MS) is
(A)  Protein sample preparation

(B)  Trypsin digestion to generate peptide

{C)  Peptide identification through database search

(D)  Separation on 2D-gel and extraction of spots.

(E) Auntomated MS analysis

Choose the correct answer from the options given below :

(1) (E), (D), (C), (B), (A) (2) (B), (C), (D), (A), (E)
(3) (C), (D). (B), (E), (A) (4)  (A), (D), (B), (E), (C)
Options :

92090666281. 1
92090666282. 2
92090666283. 3
92090666284. 4

Question Number : 71 Question Id : 92090616774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2-D Sid 3R AT WFgHE] BT UM H¥b WIS T80 auiH & Hel DA ¢ ¢

(A)  HRE T H

B) R & aeH 9 twrgs a4

(C) ST 49 @ & 71 ¥ ywerge i yga
(D) 2-D S W YRR 3R T 1 oy
(B) T@aifera Ms fagesor

e fer m el § ¥ 98 IR &1 9uH Hify

(1 (E), (D), (©). (B). (A)
(2)  (B), (O), (D), (A), (E)
(3)  (C). (D), (B), (E). (A)
(4 (A), (D), (B), (E). (C)

Options :
92090666281. 1



92090666282. 2
92090666283. 3
92090666284. 4

Question Number : 72 Question Id : 92090616775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : For accuraey in local alignment BLOSUM matrix outperforms PAM.

Statement 11 : For accuraey in local alignment PAM matrix outperforms BLOSUM matrix.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement 1 and Statement 11 are correct

(2} Both Statement I and Statement 11 are incorrect
(3) Statement I 18 correct but statement I 1s incorrect
(4) Statement [ 15 incorrect but statement I is correct

Options :

92090666285. 1
92090666286. 2
92090666287. 3
92090666288. 4

Question Number : 72 Question Id : 92090616775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 g e Ry £ -

Y 1 FR WEn # gdaar & o BLosuM snunht (AffeT) @ dER ued

el &

@ 11 T W § FRedHar & o pAM syl (329T), BLOSUM & 38R weeH

el &

JWRIhH BT S ATl §, = Ry 10 Revedi § 4 F99 Iugw IR &I 997 BT -

(1

i
Mo

3
(4

i

)
)
)
)

w13 11 g1 9 8
w1 3R 11 3T 3 &
FeF 1 T 8, b B 11 3R 8
FF 1 I B, b P 11 T 2

Options :

92090666285. 1
92090666286. 2
92090666287. 3
92090666288. 4

Question Number : 73 Question Id : 92090616776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I : Gene annotation aims to identify all protein coding genes in the sequence

and ultimately their functions.

Statement I1 : ‘Syvstems Biology' aims to model the dynamic behaviour of whole biological

systems based on the study of interactions among the system'’s part.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement | and Statement I are false

(3 Statement I is true but statement 11 is false
(4) Statement [ is false but statement 11 is true
Options :

92090666289. 1
92090666290. 2
92090666291. 3
92090666292. 4

Question Number : 73 Question Id : 92090616776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 e e Mo E

Y [: S IRAT P Jod HIEH He d dlet A SHl BT SFHH SR e b

w6t ugaE HeT B

HeH 11 : Riven Sfig fAs &1 Jew, Red & ) & 4 oreRe afem & oregga &

HYR R R e Rven & nfashia =agr ot urefid &3 2

IR HUF > ald |, Ad By 1y feedl 4 & ga9 Iugw IW F 95 S

(1

P i
M3

3
(4

i

)
)
)
)

w13 11 g1 9 8
HU 1 3R 11 g1 3T B
FE 1 T 2, wifihd e 11 39
B 1 3 g, b B 11 Il 2

Options :

92090666289. 1
92090666290. 2
92090666291. 3
92090666292. 4

Question Number : 74 Question Id : 92090616777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements from the following:
(A)  Proteomics is the entire set of expressed proteins in a cell.

(B) Genomics is the branch of molecular biology concerned with structure, function,

evolution and mapping of genes.

(C)  Genetics is a branch that focuses on function and inheritance of specific genes or parts

of genes.

(D  Lipidomics is the large scale study of pathways and networks of cellular lipids in

hiological systems.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only {(2) (B), (C) and (D) only
(3) (A), (C) and (D) only (4) (A), (B), (C) and (D) only

Options :

92090666293. 1
92090666294. 2
92090666295. 3
92090666296. 4

Question Number : 74 Question Id : 92090616777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=iferRad w2l ® 9, 98 AT & 99 Hifore:

(A)  UIEEE U P d iferad g atel Wil @ Squl S gl

(B) oIty anfias S fasm= i g8 oarar & e g8y, S| & d@vagqr, orl, o
3R e (HftT) | &

(C) SEifdnht g omar g, o fafdme ol @ Sk wnl & E iR amgafie W
Pfed Bl

Dy fafefes, she-fera Rren § ofirhy g (Rifeg) & gy ek Seas @
g8g WX W 3RATA g

g fou v fameat § 9 W8 S & 9T Hifw
(1) e (A), (B), (C)

(2) e (B), (C). (D)

(3) & (A), (), (D)

@ (), ®), (© 3R (D) T

Options :

92090666293. 1
92090666294. 2
92090666295. 3
92090666296. 4

Question Number : 75 Question Id : 92090616778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List 11

(A) Flybase (I) Biology and genome nematode model
organism Caenorhabditis elegans

(B) Wormhase (I) Database of manually curated protein
sequences

(Cy SWISS PROT (IIT) Database of genetic and molecular
biology data for model higher plant
Arabidopsis.

(D) TAIR (IV) Database for Drosophila genetics and

molecular information.

Choose the correct answer from the options given below:

1) (A)-IV), (B)-(I1T), (C)-(1I), (D)-(D)
2 (A)-(IV), (B)-(I), (C)-(11), (D)-(I1T)
3 (A)-(Dy, (B)-(IL), (C)-(IID), (D)-(IV)
4)  (A)-D), (B)-(D), (C)-IV), (D)-(I1T)

T

(
(
(
(

Options :

92090666297. 1
92090666298. 2
92090666299. 3
92090666300. 4

Question Number : 75 Question Id : 92090616778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 & |1 Fell-11 &1 fra HIf -

31 gef11

(A) TS 99 O M (Fwce) ey sfta & el
@1 Sffg fasE s Sfi=m

(B) aHeH (1) FEIHT WA SpHl Bl Sered

(C) SWISS-PROT (D) HE 99 Uley (wieeioye & o seEfis
iR anfoae S fas @ Seed

(D) TAIR (IV) ghaifeserr &t aqafies 3R anfiaes gEal
&F1 SeEH

e fer M faeeai § ¥ Od S & 994 S

(1) (A)-(IV), (B)-(I1I), (C)-(1D), (D)~(D)
(2) (A)-(IV), (B)-(I), (C)-(11), (D)-(11D)
(3) (A)-(D), (B)-(IT). (C)-(11D), (D)-(IV)
(4) (A)-(ID. (B)-(D), (C)-(IV), (D)-(11IL)

Options :

92090666297 1
92090666298. 2
92090666299. 3
92090666300. 4

Question Number : 76 Question Id : 92090616779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1 2 2
If the matrix A =-1_1 9 1 —2|, then:
-2 2 -1
(1) A 18 an symmetric matrix (2) Aisanskew symmetriec matrix
(3)  Ais an orthogonal matrix (4) |A| £1

Options :

92090666301. 1
92090666302. 2
92090666303. 3
92090666304. 4



Question Number : 76 Question Id : 92090616779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 2
aﬁamqg(ﬁﬁaﬂ}.q:% 2 1 —z2|a

“l-2 2 -1
) AT g (fnfes) dfew & (2) AU fawm wRiAd g 2
3) AU AU FHRE 2 4) |4]=1
Options :

92090666301. 1
92090666302. 2
92090666303. 3
92090666304. 4

Question Number : 77 Question Id : 92090616780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monomer unit of nucleie acid 15 called:

(1) Monosaccharide (2) Nucleotide
(3 Peptide (4) Fatty acid
Options :

92090666305. 1
92090666306. 2
92090666307. 3
92090666308. 4

Question Number : 77 Question Id : 92090616780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faete e &l Thed SHIE Pearr! &:

(1)  AFRRES 2 fFeaess

3) Hergs @) o
Options :

92090666305. 1



92090666306. 2
92090666307. 3
92090666308. 4

Question Number : 78 Question Id : 92090616781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The heavy chain which is present in IgG class of antibody 1s :

(1) & (Delta) (2) e (Epsilon)
(3 & (Alpha) (1) y(Gamma)
Options :

92090666309. 1
92090666310. 2
92090666311. 3
92090666312. 4

Question Number : 78 Question Id : 92090616781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgG @ & ufereft § e 9 gwaen &:

(1 & (SeeT) 2) e Q)

3) @ () (4) y (THT)
Options :

92090666309. 1
92090666310. 2
92090666311. 3
92090666312. 4

Question Number : 79 Question Id : 92090616782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Crossing an organism of unknown genotype with a recessive homozygote is known as:

(1) Back cross (2) Test cross

(3) Mutation (4) Transduction



Options :

92090666313. 1
92090666314. 2
92090666315. 3
92090666316. 4

Question Number : 79 Question Id : 92090616782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AN S (SH1erRy) aret Sfia o1 aegaet e Sfia 8§ G0 Fgardl g:

(1) Ueg (dh) I (2) udtemef Hwehvu
(3)  IGfgd (4) URITHA
Options :

92090666313. 1
92090666314. 2
92090666315. 3
92090666316. 4

Question Number : 80 Question Id : 92090616783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one which is not an access specifier is :

(1) Private (2) Public
(3) Protected (4) Default
Options :

92090666317. 1
92090666318. 2
92090666319. 3
92090666320. 4

Question Number : 80 Question Id : 92090616783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 9§ B e e Rfee (e wRfierR) T8 22

() fgada (2) HEIHSE
(3)  HARfEE 4) fewice
Options :

92090666317. 1
92090666318. 2
92090666319. 3
92090666320. 4

Question Number : 81 Question Id : 92090616784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bioinformatics cannot be applied in (Choose the most appropriate answer)

(1) Structure visualization (2) Structure Prediction
(3) Drug designing {4) Culturing animal cells in laboratory
Options :

92090666321. 1
92090666322. 2
92090666323. 3
92090666324. 4

Question Number : 81 Question Id : 92090616784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St a1 s &1 U AE g Heba (Haifih Iugad B 99 Hif):

(1) G geld | (2 e @i §
@3) ity fgfor (fsomsfAm) 8 (4) VRS H SIDIfnT Had §
Options :

92090666321. 1
92090666322. 2
92090666323. 3
92090666324. 4

Question Number : 82 Question Id : 92090616785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement I : Prosthetic groups bind weakly and transiently to their enzymes, forming

dissociable complexes

Statement 11 : Cofactors bind tightly and stably incorporate into proteins structure.
In the light of the above Statements, choose the correct answer from the options given helow :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement II are false

(3 Statement I is true but statement 11 is false
(4) Statement [ is false but statement 11 is true
Options :

92090666325. 1
92090666326. 2
92090666327. 3
92090666328. 4

Question Number : 82 Question Id : 92090616785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 <) wer Ry o € -

YT 1: AT TR U UOTSHl d PR 3R SRS Ay &I g, Wi ged a
affis &1 £

YT 11 : Fg-PRB, UIcH Pl A9 9 Fog IR RRAT | M6U a=d A g 2
IWRIh HUF B aid d, Ad By 1y Reed 4 & ge9 Iugw IW F 957 IR

) @ 18R 11 g we §

) @eE 1 3R 11 S IEe

) @eE 1 T g, Afhd B 11 3 8

) ®UF 1 3 B, AfT weF 11 e B



Options :

92090666325. 1
92090666326. 2
92090666327. 3
92090666328. 4

Question Number : 83 Question Id : 92090616786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of the process of transcription is:
(A) Sigma release

(B) Initiation

() Termination

(I Elongation

Choose the most appropriate answer from the options given below :

(1) (A}, (B) (), (D) (2) (A),(C), (D), (B)
(3) (B), (A), (D), (C) (4) (B), (D), (C). (A)
Options :

92090666329. 1
92090666330. 2
92090666331. 3
92090666332. 4

Question Number : 83 Question Id : 92090616786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Ffere 1 UfdhaT & RO P HE A B

(A)
(B)
(C)
(D)

Ryt Prferer g (R Refir)
RE (FHIRITRA)

FqaeE (efifFeE)

TR (Seiie)

e fer T Rl ¥ ¥ 9 I & T84 Hifr

(1)
(2)
(3)
(4)

(A), (B), (C). (D)
(A), (C), (D). (B)
(B). (A), (D), (C)
(B). (D), (C). (A)

Options :

92090666329. 1
92090666330. 2
92090666331. 3
92090666332. 4

Question Number : 84 Question Id : 92090616787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

(A)
(B)
(C)
(D)

List 1

Bacteria
Treponema pallidum
Clostridium botulinum
Pasturella pestis

Mycobacterium tuberculosis

List II

Disease
(Il Plague
(II) Food poisoning
(IIT) Syphilis
(IV) Tuberculosis

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IIL), (B)-(IV), (C)-(1I), (D)-(I)
(A)-(II), (B)-(ILI), (C)-(IV), (D)-(I)
(A)-(D), (B)-(II), (C)-(IV), (D)-(I1T)
(A)-(IID), (B)~(1I), (C)-(D), (D)-(IV)

Options :
92090666333. 1
92090666334. 2



92090666335. 3
92090666336. 4

Question Number : 84 Question Id : 92090616787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FA-1 & Y GA-11 &7 e HR

-1 -1

Sftam S
(A ZaiET el @
(B) FoTivgieaw diglor (D) ETe-faeTe
(C) Greggvelr 9w (a1ny Faftsfer

(D) HIEHETFINTT SaRPArd  (IV) TTRpAHH
ra fou U faeai § 9 98 SR &1 99 Hif

(1) (A)-(IID), (B)-(IV), (C)-(ID), (D)-(I)
(2) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(D)
(3) (A)-(I), (B)-(11), (C)-(IV), (D)-(11T)
(4) (A)-(I1I), (B)-(I1), (C)-(I), (D)-(IV)

Options :

92090666333. 1
92090666334. 2
92090666335. 3
92090666336. 4

Question Number : 85 Question Id : 92090616788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Various steps in sequential order (start to end) for homology modeling of protein:
(A)  Sequence alignment and refinement of sequence alignment.

(B)  Adding loops and side chains

() Model optimization and model evaluation

(D) Building model framework

(E})  Identification of template by database searching

Choose the correct answer from the options given below :

(1) (A), (B). (C), (D), (E) (2) (E), (4), (D), (B). (C)
(3) (E), (D), (C), (B), (A) (4)  (B), (C), (D), (A), (E)
Options :

92090666337. 1
92090666338. 2
92090666339. 3
92090666340. 4

Question Number : 85 Question Id : 92090616788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WIS & FHTg AReuvT & At SRull (URE | a) @1 |E AghH g
(A) Y TG 3R SFPH WG BT A
(B) Boel (o50) 3R @I Pl HE@aN (W1Es 949) eIl
(©  oTeY FeaHaw (sifeasaed) iR snge qwaie|
(D)  3GY FURET IR FHT|
(E) SeWd @ & gRI 2ele @ Yga ol

e feu mu faweat 3 T Td S & 99 Hifg

(1 (A), (B, (C). (D). (E)
2  (E), (A). (D), (B), (C)
(3 (E), (D), (C), (B), (&)
4y (B), (C), (D), (A), (E)



Options :

92090666337. 1
92090666338. 2
92090666339. 3
92090666340. 4

Question Number : 86 Question Id : 92090616789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement 1 : Nuclear Magnetic Resonance spectroscopy is used for determination of 3D
structure of protein.
Statement 11 ; X-Ray crystallography is used for determination of 3D structure of protein.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect
(3) Statement [ 15 correct but statement 11 15 incorrect
(4) Statement [ 15 incorrect but statement I1 1s correct

Options :

92090666341. 1
92090666342. 2
92090666343. 3
92090666344. 4

Question Number : 86 Question Id : 92090616789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g Fu Ry M E

T 1:  ADE D SIS FFgRepIdl 1 HaRT WicH &1 3-D H¥e= $I Sig & fog
fesan < 21

He 11 . X-X frecaumhl &1 v WidH & 3.D e &t S & foae e @ 21
JWRIhH BT S ATAlD §, = Y 0 Reved] § 4 T I9gH IR I 999 HINT

(1) M 131k 11 2F1 9 &
(2) oM 1 3R 11 3 s &
(3) eF 1 T &, Afh B 11 3R &
(4) YA 1 39 2, dAfeeT HUF 11 9 2

Options :

92090666341. 1
92090666342. 2
92090666343. 3
92090666344. 4

Question Number : 87 Question Id : 92090616790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct statements given are:

(A) The 2 amino acids in a peptide chain are joined by hyvdrogen bond

(B) The 2 amino acids in a peptide chain are joined by peptide bond

(C)  The bond between 2 amino acids in a peptide chain is covalent bond

(D}  The 2 amino acids in a peptide chain are joined through condensation reaction

(E)  The pentapeptide structure contains 5 amino acids joined by 4 bonds

Choose the most appropriate answer from the options given below :

(1)  (A), (B), (C) and (D) only (2)  (A) (C), (D) and (E) only
(3)  (B), (C), (D) and (E) only (4)  (A), (B), (C), (D) and (E) only
Options :

92090666345. 1



92090666346. 2
92090666347. 3
92090666348. 4

Question Number : 87 Question Id : 92090616790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fSu MU wFT § HE FUE &

(A) URTZS YA H qf 3T 3P, FISEINH SMEY GRT S ¢l

(B) URTES Y@ A 3 3 3p<d, URTES 3aY GRT 9&d &l

(€) UTIZS SGel H g 3 el & T arery wEHaiedt ey 8 2
(D) URTES S@a A g AT 3/ FE= SAHfHaT gRT 9 &

(B) UCHwEs a3l 4 5 il et 4 el gRT 9 8 &l

I feu 1o fawedi A4 9 w8 S & 9 Hifg
(1) & (A), (B), (©) 3R (D)

2  ®ad (A), (0), (D) AR (B)

3  &ad (B), (0), (D) 3R (B)

@ (), @), ©), D) 3R E) a4

Options :

92090666345. 1
92090666346. 2
92090666347. 3
92090666348. 4

Question Number : 88 Question Id : 92090616791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some friends buy a six-pack of popcorn. Two of the bags are salted (s), the rest are fruit
flavoured (f). They decide to allocate the bags by lottery dip. Chosen the probahility that the

first two bags, chosen are identical 1s:

o : 7
1 e 9 Thid
(1) T (2) T
5 6
3 — 4
(3) " (4) T



Options :

92090666349. 1
92090666350. 2
92090666351. 3
92090666352. 4

Question Number : 88 Question Id : 92090616791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o8 i uludH @1 88 U are 9169 @ded 81 389 o 1 FHHA () R 9N wal & @i
(F) a1et 1 9 3 & aedt 29 2Ry aiEes &1 vl @ €1 ugel 994 U 2T dn ues S
6T wTidepar = geft?

(1) (2)

,_.
=1
(-]
o | =1

=t ]

(3) (4)

- |

[}
b |
-
(] |

Options :

92090666349. 1
92090666350. 2
92090666351. 3
92090666352. 4

Question Number : 89 Question Id : 92090616792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is known as soluble RNA?

(1) tRNA (2) mRNA
(3 rENA (4) ncRNA
Options :

92090666353. 1
92090666354. 2
92090666355. 3
92090666356. 4

Question Number : 89 Question Id : 92090616792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fT 77 RNA # ¥ ®H gemefiel RNA 87

(1) tRNA (2) mRNA
(3) rRNA (4) heRNA
Options :

92090666353. 1
92090666354. 2
92090666355. 3
92090666356. 4

Question Number : 90 Question Id : 92090616793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two alleles for a heritable character segregate during gamete formation and end up in
different gamete. This statement has been given in the Mendel's model of:

(1) Law of Independent assortment (2) Law of Segregation
(3) Mutation (4) Variation
Options :

92090666357. 1
92090666358. 2
92090666359. 3
92090666360. 4

Question Number : 90 Question Id : 92090616793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T JUTT A4 & T 31 srefier geTes Fmin & Rt g W o 8 9 sk e
I I §1 T8 HUF Hed & fhw P H e ma 7

(1)  Edd uegg @l e (2) gUFHROl &
@3)  SaReEdd @) faftemEr
Options :

92090666357. 1
92090666358. 2
92090666359. 3
92090666360. 4



Question Number : 91 Question Id : 92090616794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 18 used to enable strict mode in perl?

(1) use strict: (2) striect mode:
(3) use strict mode; (4) use mode;
Options :

92090666361. 1
92090666362. 2
92090666363. 3
92090666364. 4

Question Number : 91 Question Id : 92090616794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uat (Pearl) § WEIHIS (Strict mode) T Je o § P AT 8, 9@ & -

1) g Reee; 2 fae s,
3) I Fee = 4) I HIE;

Options :

92090666361. 1
92090666362. 2
92090666363. 3
92090666364. 4

Question Number : 92 Question Id : 92090616795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the basic sequence comparison method in Bioinformatics is:

(1) Molecular Docking {2) Homology modeling
(3 DOT PLOT (4) Chromatograms
Options :

92090666365. 1
92090666366. 2
92090666367. 3
92090666368. 4



Question Number : 92 Question Id : 92090616795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g g fase (SRiswrfted) # e g apd go [ (afie dedw dudisE
Hers) &

(1) anfvges i () gt aiefem
(3) DOT PLOT (4) DHECHUTY
Options :

92090666365. 1
92090666366. 2
92090666367. 3
92090666368. 4

Question Number : 93 Question Id : 92090616796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Body temperature of a human body may fluctuate between 35°C to 40°C.

Reasons (R) ; The above temperature range in Farenhei scale will be 95°F to 104°F.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (H) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) {A) is not correct but (R) is correct

Options :

92090666369. 1
92090666370. 2
92090666371. 3
92090666372. 4



Question Number : 93 Question Id : 92090616796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H2 S PUT Ry M0 § : & AUBHUT (Assertion (A) F HU H fafad 2§ &1 TR I9F BRU
(Reasons (R)) FHIH :

AfPUT (A) . TP AT & IRR & T9HHE H 35 °C F 40°C & 919 IAR-TSE & I B
PR (R) - W dYHH FRARRE T9H W 95 °F ¥ 104 °F & &9 g0l

IWRIH HYF D D d, Ad Ry 10 Revedl § & Had Iugh I BN 9I DY

(1) () sR ®) I A8 § SR ®), ) B wE aRET B

(2) () 3R ®) aF w8 &, A R), Q) B T g 7@ g
(3) (&) U@ B, af R) |t & &

(4)  (a) 9@ 78 2, Afd (R) WE 2

Options :

92090666369. 1
92090666370. 2
92090666371. 3
92090666372. 4

Question Number : 94 Question Id : 92090616797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one does not obey Chargaff's rule?

(1) ds DNA and ENA (2) ss DNA and ENA
(3 ds DNA (4) ds DNA sz DNA and RNA
Options :

92090666373. 1
92090666374. 2
92090666375. 3
92090666376. 4

Question Number : 94 Question Id : 92090616797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 QA P TRTH $ PR P ureE T8 R ?

(1)  ds DNA 3R RNA (2) ss DNA 3R RNA
(3) ds DNA (4) ds DNA, ss DNA 3R RNA
Options :

92090666373. 1
92090666374. 2
92090666375. 3
92090666376. 4

Question Number : 95 Question Id : 92090616798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The file extension for the perl program is:

(1) perl (2) .prl
(3) plr (1) .pl
Options :

92090666377. 1
92090666378. 2
92090666379. 3
92090666380. 4

Question Number : 95 Question Id : 92090616798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ut W & foTT wIge vaceE 2

(1) perl (2) .prl

(3) plr (4) .pl
Options :

92090666377. 1
92090666378. 2
92090666379. 3
92090666380. 4



Question Number : 96 Question Id : 92090616799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Glutamine is storehouse of:

(1) NOy (2y H:0
(3) NH; (4) N0
Options :

92090666381. 1
92090666382. 2
92090666383. 3
92090666384. 4

Question Number : 96 Question Id : 92090616799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HeNE (VN Eo) :

(1) NO; &I (2) H,0 &1
(3) NH; &1 (4)  N,O &I
Options :

92090666381. 1
92090666382. 2
92090666383. 3
92090666384. 4

Question Number : 97 Question Id : 92090616800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The smallest monosaccharide, composed of 3 carbon atoms is:

(1) D-Glyceraldehyde (2 D-Altrose
(3 D-Glucose {4) D-Fructose
Options :

92090666385. 1
92090666386. 2
92090666387. 3
92090666388. 4



Question Number : 97 Question Id : 92090616800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 P RHAT A 1 T Bl FHRIIRES 2

(1) D-ferRifeegss 2) D-Tepid
(3) DIAEHNM (4) D-Whder
Options :

92090666385. 1
92090666386. 2
92090666387. 3
92090666388. 4

Question Number : 98 Question Id : 92090616801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Watson and Crick Model of DNA, the diameter of DNA helix iz about:

(1) 15 A" (2) 104"
(3) 35 4A° (4) 20A°
Options :

92090666389. 1
92090666390. 2
92090666391. 3
92090666392. 4

Question Number : 98 Question Id : 92090616801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aree 3R b & € T T URU & SAR, DNA 59 &1 &1 T g 2l
() 15 4° 2 104°
3) 354° 4) 20 4°

Options :

92090666389. 1
92090666390. 2



92090666391. 3
92090666392. 4

Question Number : 99 Question Id : 92090616802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘Captcha’ means (in computers):

(1) that confirms, user is human and not on automated program
(2) Captures the images from the hard copy
(3) Controls the flow of Data in computers

(4) Controls the cache

Options :

92090666393. 1
92090666394. 2
92090666395. 3
92090666396. 4

Question Number : 99 Question Id : 92090616802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S H U ‘Captcha’ (FT) o1 1< &:

(1) I YAfeEa &1 5, Iuahesdl te AFe g &R waarferd M =8 2|
() S B F el S Uger (WTH) R gl

(3) HYCY H 3T & yarg S Frifa awar 2

4) Y (Cache) T FRIGT F=ar B

Options :

92090666393. 1
92090666394. 2
92090666395. 3
92090666396. 4

Question Number : 100 Question Id : 92090616803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Alt+Tab” shorteut key is used for:

(1) close the open application in windows
(2} Switch between open applications in windows
5] Open new page in MS Word

(4) Start the internet explorer

Options :

92090666397. 1
92090666398. 2
92090666399. 3
92090666400. 4

Question Number : 100 Question Id : 92090616803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Alt + Tab’ AEHE & BT WG el 2:

(1) e 4 gelt g8 welidber @t a5 &l

2 T d gl gU SRl (Twiiherg) & 9 ager
(3) MS word @) § FIT U @i

@) ETIC WEEEIRY Pl YR BT

Options :

92090666397. 1
92090666398. 2
92090666399. 3
92090666400. 4



